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Figure 1: my+ GeV vs
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Figure 2: log,, o(pp — H¥tb)(H* — e*v) (fb) vs. log,,tan 8
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Figure 3: log;, o(pp — HEtb)(H* — p*v) (fb) vs. log,, tan 3
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Figure 4: log,, o(pp — H*tb)(H* — 7*v) (fb) vs. log,,tan 3
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Figure 5: log;oo(pp — HEtb)(H* — tb) (fb) vs. log,,tan 3
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Figure 6: log;oo(pp — HEtb)(HE — HW=) (fb) vs. log;, tan 3
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Figure 7: log,,tan 3 vs. my+ GeV
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Figure 8: log;o o(pp — HEth)(HE — e*v) (fb) vs. my= GeV
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Figure 9: log,, o(pp — H*tb)(H* — p*v) (fb) vs. my« GeV
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Figure 10: log,, o(pp — HEtb)(H* — 7*v) (fb) vs. mpy+ GeV
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Figure 11: log,, o(pp — HEtb)(H= — tb) (fb) vs. mpy+ GeV
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Figure 12: log,, o(pp — H*tb)(HE — HW*) (fb) vs. mpy+ GeV
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Figure 13: log,,tan 3 vs. log,qo(pp — HEtb)(HE — e*v) (fb)
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Figure 14: my+ GeV vs. log,, o(pp — HEtb)(H* — e*v) (fb)
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Figure 15: log,,o(pp — H*tb)(H* — pu*v) (fb) vs. logyolpp —
H*th)(H* — e*v) (b)
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Figure 16: log,,o(pp — H*tb)(H* — 7%v) (fb) vs. log,o(pp —
H*tb)(H* — e*v) (fb)
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Figure 17: log,oo(pp — H*tb)(H* — tb) (fb) vs. log,o(pp —
H*tb)(H* — e*v) (fb)
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Figure 18: log,,o(pp — HEtb)(H* — HW?) (fb) vs. log,o(pp —
H*th)(H* — e*v) (fb)
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Figure 19: log,, tan 8 vs. log,qo(pp — HEtb)(HE — p*v) (fb)
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Figure 20: my+ GeV vs. log,yo(pp — HEtb)(H* — p*v) (fb)
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Figure 21: log;oo(pp — H*tb)(H* — e*v) (fb) vs. logyyo(pp —
H*tb)(H* — p*v) (fb)
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Figure 22: log,yo(pp — H*th)(H* — 7%v) (fb) vs. log,o(pp —
H*th)(H* — p*v) (fb)
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Figure 23: log,zo(pp — H*tb)(H*

H*tb)(H* — p*v) (fb)
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Figure 24: log,,o(pp — HTth)(H* — HW=) (fb) vs.

HEh) (H* — 1v) (th)
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Figure 25: log;, tan 8 vs. log,qo(pp — H*tb)(H* — 7%v) (fb)
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Figure 26: my+ GeV vs. log,,o(pp — HEth)(H* — 75v) (fb)
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Figure 27: log;oo(pp — H*th)(H* — e*v) (fb) vs. logyyo(pp —
H*tb)(H* — 7%v) (fb)
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Figure 28: log,,o(pp — HTtb)(H* — pu*v) (fb) vs. logyolpp —
H*tb)(H* — 1%v) (fb)
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Figure 29: log,oo(pp — HEtb)(H* — tb) (fb) vs. log,o(pp —
H*tb)(H* — 7%v) (fb)
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Figure 30: log,o(pp — HEtb)(HE* — HW=) (fb) vs. log,,o(pp —
H*tb)(H* — 7%v) (fb)
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Figure 31: log, tan 8 vs. log,,o(pp — H*tb)(H* — tb) (fb)
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Figure 32: my+ GeV vs. log,,o(pp — H*tb)(H* — tb) (fb)
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Figure 33: log,,o(pp — HFtb)(H* — e*v) (fb) vs. log,o(pp —
H*tb)(H* — tb) (fb)
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Figure 34: log,,o(pp — H*tb)(H* — p*v) (fb) vs. log,o(pp —
H*th)(H* — tb) (fb)
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Figure 35: log;,o(pp — H*tb)(H* — 7%v) (fb) vs. logo(pp —
H*tb)(H* — tb) (fb)

(a) PDF (b) —21n(L)

Figure 36: logoo(pp — HEth)(H* — HW=) (fb) vs. log,o(pp —
H*tb)(H* — tb) (fb)
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Figure 37: log,,tan 8 vs. log,,o(pp — H*tb)(H* — HW®) (fb)
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Figure 38: my+ GeV vs. logy,o(pp — H¥tb)(H* — HW¥) (fb)
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Figure 39: log;yo(pp — H*th)(H* — e*v) (fb) vs. logyyo(pp —
H*tb)(H* — HW?) (fb)
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Figure 40: log,,o(pp — HTtb)(H* — pu*v) (fb) vs. logyolpp —
H*tb)(H* — HW*) (fb)
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Figure 41: log;yo(pp — H*th)(H* — 7%v) (fb) vs.

H*b)(H* — HW*) (b)
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Figure 42: log, o(pp — H*tb)(H* — tb) (fb) vs.

HEb) (H* — HW=) (fb)
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